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Question 12              
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Choose the correct answer and write it on the answer sheet on page 2 
 

1. If }9,7,5,2{=A , }8,7,5,4,1{=B and }7,2,1{=C ,then =∩∪ BCA )(  

 a)   }8,7,5,4,1{     b) }7,5,1{      

 c)   }7,2,1{     d)  }7,5{  

 

 

2. =5/3x    

 a)   
5 3

x       b)  
3 5

x     

 c)   ( )35
x      d)   ( )3

1
5x  

 

 

3. The shaded region in Venn diagram represents  

 a)   BA ∪′     b) A′    

 c)   B′      d)  BA ′∪   

 

 

 

4. If  25ttvh −=  , and  120=h , 3=t , then =v  

 a)   25      b)  55     

 c)   43      d)   75  

 

 

5. The simplification of  ( ) =− − 4352 yx  

 a) 
20

1216

x

y−
    b)  

x

y78−
   

 c) 
x

y716−
                      d)  

20

1216

x

y
 

 

 

A B

ε  
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6. The number  83 in binary system is equal  

 a) 10010011    b)  1010011  

 c)   1010101                   d)   101011 

 

 
 

7. If },41,23|{ integernnnxxA <≤−== then  

 a)   }7,4{=A     b) }10,7,4,1{=A      

      c)   }7,4,1{=A     d)  }4,3,2,1{=A  

 

 

 

 

8. Solve for x:   
3

4

4

3

2

32 −
+=

− xx
     

 a)   
2

3
−=x     b) 

8

11
=x      

c)   
11

8
=x      d)  

2

3
=x  

 

 

 

9. The expansion of   =−+ )5)(12( 22 tt   

 a) 5102 24 −− tt     b)  592 24 −+ tt    

 c) 5112 24 −− tt                       d)  592 24 −− tt  

 
 

 

 

10. The factorization of    32 188 yyx −   = 

 a)   )32)(32(2 yxyxy +−    b) )32)(32(2 yxyxy ++     

 c)   )92)(24( 2yxyxy +−   d) )92)(24( 2yxyxy −+   
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11. If  ℝ = {all real numbers} and ℚ = {all rational number}. Then ℝ ∩  ℚ = 

 a)  ℝ (real numbers)   b) ℤ  (integer numbers) 

 c)   φ      d) ℚ   (rational numbers)  

 

12. The factorization of   =−+ 376 2 xx  

 a) )32)(13( −+ xx    b)  )1)(36( +− xx   

 c)  )32)(13( +− xx    d)   )1)(36( −+ xx  

 

 

13. The simplification of  
mm

mm

m

m

4

103

205

84

2

2

−

−−
÷

−

+
  is 

 a)   
5

4

−m

m
     b)   

5

4

−m
    

 c)  
)5(5 +m

m
    d)   

)5(5

4

−m

m
 

 

 

 

14. The binary number  110101 in decimal system is equal  

 a) 53     b)   50    

 c)   52     d)   54 

 

 

15. The solutions of the equation   0456 2 =−+ xx       are 

 a)   
3

4
,

2

1
== xx     b)  

3

4
,

2

1
−== xx     

 c)   
3

4
,

2

1
=−= xx     d)  

3

4
,

2

1
−=−= xx  
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16. If   0453 2 =−+ xx    then   

 a)   
6

735 ±−
=x    b) 

3

735 ±−
=x      

 c)   
2

735 ±−
=x    d)  

6

735 ±
=x  

 

17. Transpose the formula  sxnrxm −=+−  to make x  the subject : 

 a)   
nm

sr
x

+
=     b)   

nm

sr
x

−
=     

 c)  
nm

sr
x

+

+
=     d)   

nm

sr
x

+

−
=  

 

18. The solution of 14)125()618(
3

2
=−−+ xx     is 

 a)   
2

7
=x      b) 

2

7
−=x      

 c)   
7

2
−=x     d)  

7

2
=x  

 

 

19. The simplification of  =
+

−
+ 2

2

3

3

n

n

n

n
   

 a)   
)2)(3(

312 2

++

−

nn

nn
    b) 

)2)(3(

2

++

−

nn

n
     

 c)   
)2)(3(

55 2

++

+

nn

n
    d)  

)2)(3(

2

++ nn

n
 

 

 

20. The y-value in the solution of  the simultaneous equations   
12

183

=+

=−

yx

yx
   is 

 a)   3=y      b)  5−=y     

 c)   5=y      d)  7−=y  


